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Question 1: 
 

Calculate the following. 

 

∫
4

√𝑥
4  𝑑𝑥 

 
 

 

 

9∙1 Silver Outcome 2 

 

Question 2: 
 

Solve x² - 2x - 80 > 0. 
 

 

 

 

 
 

8∙3 Silver Outcome 2 

 

Question 3: 
 

Simplify the following logarithmic 

expression. 

 

3log6 4 −  2log6 8 
 

 

14∙1 Gold Outcome 3 

 

Question 4: 
 

If 𝑀 is an acute angle with tan𝑀 =
4

9
 find 

the exact value of sin2𝑀. 
 

 

 

 

 

 

 

 

 

 

 

10∙1 Bronze Outcome 1 

 

Question 2: 
 

A curve for which  
𝑑𝑦

𝑑𝑥
= 𝑥3 +

1

𝑥4
−

1

2
 passes 

through the point (1, 4).  

 

Express y in terms of x. 
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Exam Questions  
Question 1: 
 

 

 

 

 

 

 

 

 

 

Question 2: 

 
 

 

Question 3: 
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